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il

- FOEAl (£8)
V=
V=

EXLT
RIE (Im=W<2m)
- 18

V=194.8

- A
V=16.4

EBR

- W<1.0
V=9.0
V=1.0

s Im=W<4m
V=48.8
V=48.9

L2 Ju ub U2

(£f HEAEESR)
(B HEAEESR

(BEAEESR)

(BEAEESR)

(£f HEAEESR)
(B HEAEESR

(£f HEAEESR)
(B HEAEESR

V=(19. 0+111.5+16. 4)- (8. 2+52.0) /0.9

op

op

op

4.4
14.6
19.0 m3

111.5 m3

16.4 m3

8.1
0.1
8.2 m3

34.9

17.1

52.0 m3

80.0 m3




No. 1 +12.00 IP.2 25%T
No. 1 +12.50 0.50 5. 60 "
N E 0.50 m3
IP. 55& A
No. 3+ 4.00 BEME
No. 3+ 5.25 1.25 0.40 IP.5 35HT
A 1.25 m3
No. 3 +14.73 No. 45&
No. 4 5.43 0.10
No. 4+ 4.33 4. 46 0.10 IP.7 55%T
A 9.89 m3
No. 4+ 4.33 IP.7 55&%T
No. 4+ 4.83 0.50 0.10 "
IP. 7@
No. 4+ 6.00 1.17 0.10 BEME
A 1.67 m3
& & 13. 31 m3




No. 2+7. 45& FA

No. 2 + 3.40 15%ET
No. 2+ 4.43 2.97 1.70 5. "
A 2.97 5.0 m3

No. 2+7. 45& FA
No. 2+ 4.43 15%ET
No. 2+ 7.40 1.03 1.70 1. "
A 1.03 1.8 m3
No. 3 +14.73 No. 45&
No. 4 5.43 0.10 0.
No. 4+ 4.33 4. 46 0.10 0. IP.7 55&%T
A 9.89 0.9 m3
No. 4+ 4.33 IP.7 55&%T
No. 4+ 4.83 0.50 0.10 0. "
A 0.50 0.1 m3
No. 4 + 19.05 25RET
No. 0.95 1.90 1. "
No. 5+ 2.92 2.92 1.90 5. "
A 3.87 7.3 m3
& & 12.8 14.6 m3




No. 1 + 12.00 4. IP.2 2B%T
No. 1 + 12.50 0.50 4. 4.80 2. "
INOE 0.50 2.4 m3
No. 1 + 12.50 1. No. 25& A
No. 2 8.57 1. 1.00 8.

No. 25& FH
No. 2 + 3.40 3.89 1. 1.00 3. 1E%ET
N E 12. 46 12.5 m3

No. 2+7. 45 AR
No. 2 + 3.40 6. 1E%ET
No. 2 + 4.43 2.97 6. 6.00 17. "
N E 2.97 17.8 m3

No. 2+7. 45 AR
No. 2 + 4.43 11. 1E%ET

No. 2+7. 45 AR
No. 2 + 7.40 1.03 11. 11.00 11. 1E%ET
N F 1.03 11.3 m3
No. 3 + 14.73 1. No. 43& A
No. 4 5.43 1. 1.90 10.
No. 4 + 4.33 4.46 1. 1.85 8. IP.7 58%T
N F 9.89 18.6 m3




No. 4+ 4.33 5. IP.7 55&%T
No. 4+ 4.83 0.50 5. 5.30 2. "
A 0.50 2.7 m3

No. 4+ 4.83 0. No. 4+105& A
No. 4 + 10.00 5.59 0. 0.40 2. 0.30 1.7

No. 4 + 19.05 9.79 0. 0.40 3. 0.30 2.9 25%ET
N E 15. 38 6.1 m3 4.6 m3

No. 4 + 19.05 0. 25FET
No. 0.95 5. 3.05 2. 2.15 2 "

No. 5+ 2.92 2.92 8. 6.70 19. 2.00 5.8 "

N F 3.87 22.5 m3 7.8 m3

No. 5+ 2.92 15. 25FET
No. 5 + 4.04 1.13 15. 15. 60 17. 3.50 4.0 "

N F 1.13 17.6 m3 4.0 m3

& & 41.1 111.5 m3 16.4 m3




No. 1 + 12.50 0.6 No. 25& A
No. 2 8.57 0.6 0.60 5.1

No. 25& FH
No. 2 + 3.40 3.89 0.6 0.60 2.3 1E%ET
IhOE 12. 46 7.4 m3

No. 2+7. 45 AR
No. 2 + 4.43 0.4 1E%ET
No. 2 + 7.40 1.03 0.4 0.40 0.4 "
IhOE 1.03 0.4 m3
No. 4 + 4.33 0.2 IP.7 58%T
No. 4 + 4.83 0.50 0.2 0.20 0.1 "
N E 0.50 0.1 m3
No. 4 + 19.05 2B%ET
No. 5 0.95 0.0 "
No. 5+ 2.92 2.92 0.2 0.10 0.3 "
N E 3.87 0.3 m3
& § 17. 36 8.1 m3 0.1 m3




No. 1 + 12.50 0.5 No. 25& A
No. 2 8.57 0.5 0.50 4.3

No. 25& FH
No. 2 + 3.40 3.89 0.5 0.50 1.9 1E%ET
N E 12. 46 6.2 m3
No. 4 + 4.83 0.7 No. 4+10:#
No. 4 + 10.00 5.59 1.70 9. 0.7 0.70 3.9
No. 4 + 19.05 9.79 1.70 16. 0.7 0.70 6.9 2BEET
N E 15. 38 26.1 m3 10.8 m3
No. 4 + 19.05 2B%ET
No. 5 0.95 2.10 2. "
No. 5+ 2.92 2.92 2.10 6. "
IhF 3.87 8.1 m3
No. 5+ 2.92 0.1 2B%ET
No. 5+ 4.04 1.13 0.60 0. 0.1 0.10 0.1 "
IhF 1.13 0.7 m3 0.1 m3
& § 32.84 34.9 m3 17.1 m3




TEmEiE A=9.5m2

FEEER (YLE)
A=9.5%1. 4142 (R tb) 13.4 m2




15KEBT

ZHEHA T
NO. 12.50 NO. 3.40 12. 46
NO. 14.73 NO. 4,33 9.89
NO. 4,83 NO. 19. 05 15.38
IhOE 3773 m
FiRIVI-L - BEE
NO. 12.00 NO. 12. 50 0.50 SwL
NO. 4,33 NO. 4.83 0.50 SHL
IhOE 1.00 m
& F 38.73 m
Hu B2
NO. 1.9 NO. 3.4 2 - A4l
NO. 2.8 NO. 4.3 2 - A4l
& F 4 #&Fr




NO.

12.0

NO.
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op

NO.

4.3

NO.
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op

NO.

3.4

NO.
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2EHET

NO.
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NO.

4.0

op
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=N % ¢ /s
S\ & N
i & y
8 Q
)

K S— b
t=1mm, W=1

. 6m

1000

Wt L BhAE A
t=1.0~1. Tmm

FEYILHU—F

o ck=18N/mm2

L& —#4 (RC-5~40)

24)
A=0. 84m2

ANT—FT)a—L
B-1000% 850 t=2mm

\\;ﬁﬁdijgﬁg

2FHAE

AT —+TY)a—LBE
L=10. 00

714 )L3—# (RC-5~40)
V=0. 84%10. 00

L=10. 00

K — k (t=1mm)

A=1.6%10. 00

A= 7 0. 150%10. 00

1000%850 t=2. Omm)

R LBALE#f (t=1. Omm~1. 1Tmm)

BEERVIFLUE (150 2FFALE)

10.00 m

8.40 m3

10.00 m

16.00 m2

4.71 m2




FiRa > 1) — bk (ock=18N/mm2)
V=0. 600*0. 100*2x%10. 00 = 1.20 m3

B (— A NE)

A=0. 100%2%10. 00 = 2.00 m2
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L-50x50x 4

AbSy b

ANTF—rTYa—L

\ B-1000 x 850

N_BEAL T o150
ECEEN

AT —+rTY)a—LBE
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1000%850 t=2. Omm)

BEERVIFLUE (P10 2FFALE)

L=10. 00

10.00 m

10.00 m




1.500

f m

200

FERYIVHY—F

a>41)— bk (ock=18N/mm2)
V=1/2%1. 500%H
=0. 750xH

B (— R )
A=1/2%1. 500%H
=0. 750*H

m3

m?2




a>491)— bk (ock=18N/mm2)
V=(1.88+1.88)%0.20 (MrEETEESH) = 0.75 m3

B (— A )

A==(1.88+1. 88) *2 (HEAEESR) = 7.52 m2




No. 1 + 10.50 0.00 0.00 H=0. 000
No. 1 +12.00 1.50 0.40  0.200 0.30 0.40/ 0.200 0.30 H=0. 5630
N E 1.50 0.30 m3 0.30 m2
No. 2+ 1.90 0.00 0.00 H=0. 000
No. 2 + 3.40 1.50 0.29 0.145 0.22 0.29 0.145 0.22 H=0. 380
A 1.50 0.22 m3 0.22 m2
No. 4+ 2.83 0.00 0.00 H=0. 000
No. 4+ 4.33 1.50 0.47 0.235 0.35 0.47 0.235 0.35 H=0. 620
A 1.50 0.35 m3 0.35 m2
& & 4.50 0.87 m3 0.87 m2




No. 1 + 10.50 0.00 0.00 H=0. 000
No. 1 +12.00 1.50 0.40  0.200 0.3 0.40/ 0.200 0.3 H=0. 5630
N E 1.50 0.3 m3 0.3 m2
No. 2+ 1.90 0.00 0.00 H=0. 000
No. 2 + 3.40 1.50 0.29 0.145 0.22 0.29 0.145 0.22 H=0. 380
A 1.50 0.22 m3 0.22 m2
No. 4+ 2.83 0.00 0.00 H=0. 000
No. 4+ 4.33 1.50 0.47 0.235 0.35 0.47 0.235 0.35 H=0. 620
A 1.50 0.35 m3 0.35 m2
& & 4.50 0.87 m3 0.87 m2
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1300

2 900

fl &

o ck=18N/mm2

'v_736. 800

1300

[V _735.500

ﬁ 2771023
N\ ‘

1300

2 600

a2 1)— bk (ock=18N/mm2)
V=1/2% (5. 500+2. 900) *2. 600*0
- B O &R ERR
V=-1/2% (1. 300+1. 023) *0. 500
- AR R B RR

R—54>ar491)— (t=bcm)

B (—RER 85
A=1/2x (5. 500+2. 900) *2. 600%2
A=1/2x (1. 300+1. 023) *0. 500%2
- GO &R IERR
A=-(1.300+1. 023) *1. 000

.500

1. 000

V=-1 /4%0. 150" 2%y (0. 50072+0. 277"2)

V=4 (2. 60072+1. 30072) *0. 500%0. 050%2

(§1E - &@)
()

op

op

5. 46

-0.58

-0. 01
4.87 m3

0.15 m3

21.84

1.16

-2.32
20.68 m2




MRz ZERE R () 150)
L=y~ (0. 50072+0. 277"2) = 0.57 m

Ri5T (BERS)
A=1/2% (5. 500+2. 900) *2. 600%2-2. 600*1. 000*2 = 16.6 #im?2




IE @\
4 200
1 600 1 000 1 600
o
&
8 S —
~ O
o
o
o~

fl m =

500
v 761.700
o~ (=]
[=>] o
f=>] o~
§7§fv 760.500 | &
ol o~
(=]
) =

a2 1)— bk (ock=18N/mm2)
V=1/2% (4. 200+1. 700) *2. 500*0. 500
- B O &R ERR
V=-1/2x (1. 200+0. 993) 0. 5001. 000
- AR R B RR
V=-1 /4%0. 150" 2%y (0. 50072+0. 207°2)

R—54>ar491)— (t=bcm)

V=J"(2.50072+1. 25072) 0. 500%0. 0502

B (—RER 85
A=1/2x(4.200+1. 700) *2. 500%2
A=1/2x (1. 200+0. 993) *0. 500%2

- GO &R IERR
A=-(1.200+0. 993) *1. 000

op

op

3.69

-0. 55

-0. 01
3.13 m3

0.14 m3

14.75

1.10

-2.19
13.66 m2




MRz ZERE R () 150)
L=y~ (0. 50072+0. 207"2) = 0.54 m

Ri5T (BERS)
A=1/2% (4. 200+1. 700) *2. 500%2-2. 500%1. 000%2 = 9.8 #tm?2




E @
6 000
2 220 280 1000 280 2 220
v 745, 830 — ‘ —
P\ o
Bl o/
=4 A\ | A4
g VN R

% g /)
v _745.030 \\ \ &) &/ //

3 500

2 700

1

1

500

B

o ck=18N/mm2

Vv _745. 830

Vv _745.030

3 500

2 700

AR
a2 1)— bk (ock=18N/mm2)

V=1/2% (0. 500+1. 200) *3. 500%1/2x (6. 000+2. 500)
- B O &R ERR

V=-1/2x(0. 500+0. 660) *0. 800%1/2x (1. 560+1. 000)

R—54>ar491)— (t=bcm)

V=1/2% (0. 500+1. 200) *3. 500%" (1. 072+0. 572) *0. 0502

B (—RRER 85
A=1/2% (6. 000+2. 500) *3. 500
A=1/2% (6. 000+2. 500) *3. 500% (1.072+0.2°2)
- GO &R IERR
A=-1/2x(1. 560+1. 000) *0. 800
A=-1/2x(1.560+1. 000) *0. 800y (1.072+0. 272)

op

op

= 12. 64

= -0.59

= 0.33 m3

= 14.88

= 15.17

= -1.02
= -1.04

12.05 m3

27.99 m2




imT
- BERIS
A=1/2% (6. 000+2. 500) *3. 500-1/2* (1. 560+1. 000) *0. 800
- BEMERES
A=1/2% (6. 000+2. 500) *3. 500%~ (1.072+0.2°2)
A=-1/2x(1.560+1. 000) *0. 800y (1.072+0. 2"2)

op

13.9 #im?2

15.2
-1.0
14.2 #im?2




H
H-200

§0<lL o ck=18N/mn2

I

H-200
H

BT =380

4130

v 710.850

v 1767600

Hel 120

3370

v 710.850

H=3 180

3310

A2 T
a2 1)— bk (ock=18N/mm2)
V=1/2% (0. 300+0. 300+Hx0. 2) *H
=0. 1xH"2+0. 3H

T (— R
A=4(1.072+0.572) #H+y~ (1. 072+0. 372) *0. 200
=1. 118%H+0. 209

)

EEEGFEYER #£X20cm)
A=y (1.072+0. 372) * (H-0. 200)
=1. 044xH-0. 209

Ri5T (HEMER B
A=y (1.072+0. 572) *H
=1.118+H

a9 1)— bk (ock=18N/mm2)
V=1/2x (1. 000+0. 700) *0. 300

m3

m?2

m?2

#hm?2

= 0.26 m3




a>41)— bk (ock=18N/mm2)

V=3.03 (ERAIEFmETEESR) = 3.03
V=2.71 (BRAFEETEESR) = 2.717
=) & 5.80 m3

A=7. 11 (ERAIFmETEESR) = 7.1
A=6. 45 (BRAFEETEESR) = 6.45
=) & 13.56 m2

REHGEIYER #£x20cm)

A=5.47 (ERAIFmETEESR) = 5.47
A=4.97 (BRAFEETEESR) = 4.97
=) & 10. 44 m2

Ri5T (HEEMZS)

A=3.8 (EFAEAEESR) = 3.8
A=3.5 (BFRAMEAEESR) = 3.5
= 7.3 #tm2

a9 1)— bk (ock=18N/mm2)
V=0. 26%2. 47 = 0.64 m3




TRl 0. 60 1.74 H=1. 370
sk 2.90 1.49  1.045 3.03 3.16| 2.450 7.1 H=2. 640
& &t 2.90 3.03 m3 7.11 m2

TRl 1.22 H=1_370
LR 2.90 2.55 1.885 5.47 H=2 640
& &t 2.90 5.47 m?2




L1, 45

2.2

H=2. 000

LA

1.45

3.0

2.60

3.8

H=2. 640

1.45

3.8 #tmZ




TRl 0. 60 1.74 H=1. 370
sk 2.60 1.53  1.065 2.77 3.22|  2.480 6. 45 H=2. 690
& &t 2.60 2.77 m3 6.45 m?2

TRl 1.22 H=1. 370
ki 2.60 2.60 1.910 4,97 H=2. 690
& &t 2.60 4.97 m?2




L F-1.35

2.2

H=2. 000

LA

1.35

3.0

2.60

3.5

H=2. 690

1.35

3.5 #tmZ




4 400

1.700

1.000

1700

Vv _743.168

2 400

1 350

2.
Y=
e

7.
.0_5

~
vV _741.818 B

1 050

Il @

/

0 ck=18N/mm2
o ck=T8N/mm2_

/

Vv _743.168
7

277
1350

2 400

1050 |

wL

T (— R
A=1/2% (4. 400+2. 000) *2. 400%2
A=1/2% (1. 350+1. 073) 0. 5002

- BACI B4R
A=-(1.350+1.073)*1. 000

a2 1)— bk (ock=18N/mm2)
V=1/2% (4. 400+2. 000) *2. 400*0. 500
- B O &R ERR
V=-1/2x (1. 350+1. 073) 0. 500+1. 000

R—54>ar491)— (t=bcm)

V=y"(1.072+0. 572) *2. 400%0. 500%0. 0502

)

(§1E - &@)
()

op

op

3.84

-0. 61

3.23 m3

0.13 m3

15. 36

1. 21

-2.42
14.15 m2




Ri5T (BERS)
A=1/2% (4. 400+2. 000) *2. 400%2-2. 400%1. 000%2 = 10. 6 #tm?2




8 000

3 500 1000 3 500

v _770.850 \

WO\ /]
1V 770.00 AN /]
W Yy
RUR Yy
g W ay
= W Ay
i W /)
W N )
N /]

4 100

500

o ck=18N/mm2
e
//
V_1770. 850

=3
B
<3

Vv _1770.00

1:0. 2

3 900

3 050

1280

AR
a2 1)— bk (ock=18N/mm2)

V=1/2% (0. 500+1. 280) *3. 900*1/2x (8. 000+4. 100)
- B O &R ERR

V=-1/2x (0. 500+0. 670) *0. 850+1. 000

R—54>ar491)— (t=bcm)

V=1/2% (0. 500+1. 280) *3. 900*" (1. 072+0. 572) *0. 0502

B (—RRER 85

A=1/2x (8. 000+4. 100) *3. 900

A=1/2% (8. 000+4. 100) *3. 900*~ (1.072+0.272)
- GO &R IERR

A=-0. 850%1. 000

A=-0. 850%1. 000y~ (1.072+0.2"2)

op

op

21.00

-0. 50

20.50 m3

0.39 m3

23.60

24.06

-0. 85

-0. 87
45.94 m2




imT

- BERIS
A=1/2x (8. 000+4. 100) *3. 900-0. 850=1. 000

- BEMERES
A=1/2% (8. 000+4. 100) *3. 900%~ (1.072+0.272)
A=-0. 850%1. 000y~ (1.072+0.2"2)

op

22.7 #m2

241
-0.9
23.2 #m2




MET L=3.8n
4130

767,600 —

Hel 120

v.161.600

_ HELI2

A2 T
a2 1)— bk (ock=18N/mm2)
V=1/2% (0. 300+0. 300+Hx0. 2) *H
=0. 1xH"2+0. 3H

B (—RER 85

A=y~ (1.072+0.572) xH+y (1.072+0. 372) *0. 200

=1. 118xH+0. 209

EEEGFEYER #£X20cm)
A=y (1.072+0. 372) * (H-0. 200)
=1. 044xH-0. 209

Ri5T (HEMER B
A=y (1.072+0. 572) *H
=1.118+H

a9 1)— bk (ock=18N/mm2)
V=1/2x (1. 000+0. 700) *0. 300

m3

m?2

m?2

#hm?2

0.26 m3




a>41)— bk (ock=18N/mm2)

V=4.62 (ERAMEAEESR) = 4.62
V=4.62 (BRANEAEESR) = 4.62
= B 9.24 m3

A=9.92 (ERAIFmETEESR) = 9.92
A=9.92 (BRAFEETEESR) = 9.92
=) & 19.84 m2

REHGEIYER #£x20cm)

A=7.73 (ERAIFmETEESR) = 7.73
A=7.73 (BRAFEETEESR) = 7.73
=) & 15. 46 m2

Ri5T (HEEMZS)

A=6.3 (EFAEAEESR) = 6.3
A=6.3 (BFRAMEAEESR) = 6.3
a & 12.6 #im?2

a9 1)— bk (ock=18N/mm2)
V=0. 26%3. 37 = 0.88 m3




TRl 0. 46 1.46 H=1. 120
sk 3.80 1.97  1.215 4.62 3.76/ 2.610 9.92 H=3. 180
& &t 3.80 4.62 m3 9.92 m?2

TRl 0.96 H=1. 120
ki 3.80 311 2.035 7.73 H=3. 180
& &t 3.80 7.73 m?2




LiRA-2.17

2.2

H=2. 000

LA

2.17

3.6

2.90

6.3

H=3. 180

2.17

6.3 #tm2




TRl 0. 46 1.46 H=1. 120
sk 3.80 1.97  1.215 4.62 3.76/ 2.610 9.92 H=3. 180
& &t 3.80 4.62 m3 9.92 m?2

TRl 0.96 H=1. 120
ki 3.80 311 2.035 7.73 H=3. 180
& &t 3.80 7.73 m?2




LiRA-2.17

2.2

H=2. 000

LA

2.17

3.6

2.90

6.3

H=3. 180

2.17

6.3 #tm2




5 000

2 500

1.000

1.500

Vv _1617. 600

1.000

1V 1766.600 =

2 000

1000

3 000

1]

500

A
/

o ck=18N/mm2

VvV _1767.600

%L
1000 [ 1000
2 000

wL

a>41)— bk (ock=18N/mm2)

- FA O &R IERR

R—54>ar491)— (t=bcm)

B (—RRER 85
A=1/2x (5. 000+3. 000) *2. 000x2
A=1/2x (1. 000+0. 822) *0. 500%2
- GO &R IERR
A=-(1.000+0. 822) *1. 000

V=1/2% (5. 000+3. 000) 2. 000*0. 500

V=-1/2% (1. 000+0. 822) 0. 500*1. 000

V=y"(1.072+0. 572) *2. 000%0. 500*0. 0502

(§1E - &@)
()

op

op

= 4.00

= -0. 46

& 3.54 m3

= 0.11 m3

= 16. 00

= 0.91

= -1.82
& 15.09 m2




Ri5T (BERS)
A=1/2% (5. 000+3. 000) *2. 000*2-2. 000*1. 000*2 = 12.0 #tm?2




BRI

REEH NO. + 12.00 NO. 19.0 1.20
NO. + 1473 NO. 19.5 4.50

NO. + 16.2 NO. 19.7 3.30

ERIEE 15.00

NO. + 19.0 NO. 3.4 4. 40

=1 =k 4.40

& &t 19. 40




—

Se——————

200

1A s (328 2 20cm)
A=y (172+0.572) *H
=1.118*H
S (3% % 200m)
A 20.8 (=4l
A .71 (AR

=1. 0 7= Y 8=

M E R HESR)
M E R HESR)

op

m?2

20. 80
3.1
24.51 m2




No. 1 +12.00 .42 H=1. 270
No. 1 + 12.50 .50 .42 . 420 .11 H=1. 270
A .50 11 m2
No. 1 + 12.50 . 64 H=1. 470
No. 1 + 14.40 .00 .67 . 655 .31 H=1. 490
No. 1 +19.00 .10 .22 . 945 .44 H=0. 200
A .10 .15 m2
No. 3+ 4.30 .68 H=1. 500
No. 3+ 5.25 .50 .68 . 680 .52 H=1. 500
A .50 .52 m2
No. 3+ 5.25 .05 H=0. 940
No. 3+ 5.75 .50 .05 . 050 .53 H=0. 940
A .50 .53 m2
No. 3+ 5.75 .21 H=1. 140
No. 3+ 9.30 .50 .22 . 145 .61 H=0. 200
A .50 .61 m2
No. 3 +14.73 .05 H=0. 940
No. 3 + 19.50 .50 .22 . 635 . 86 H=0. 200
A .50 .86 m2
No. 4 + 16.20 .22 H=0. 200
No. 4 + 19.05 .80 .21 . 215 .40 H=1. 980
M F .80 .40 m2




. 4+19.05

1.90

H=1.700
No. 4 + 19.65 0.50 1.90 1.900 0.95 H=1. 700
N E 0.50 0.95 m2
& &t 18.5 20.80 m2




No. 1 +19.00 0.22 H=0. 200

No. 2 1.00 1.12  0.670 0.67 H=1. 000

No. 2 + 3.40 3.40 0.67 0.89 3.04 H=0. 600
3.71

& &t 4.40 3.711 m2




FHRILH U— b

E#EFCAD R T

NO. 12.5 NO. 19. 530 m2 |LkyEH
"
NO. 14.7 NO. 19. 0.90 "
NO. 16.2 NO. 19. 0.80 "
& % 7.00 m2
SEANT NO. 11.5 NO. 16. 48.00
& % 48.00 m
TR ©) ffflg CﬁAEH:/X i
® "
© "
@| No. 19.0 NO. 6. 12.70 "
®| No. 7.4 NO. 15. 18.90 "
®| No. 15.4 NO. 4. 10.70 "
@| No. 8.0 NO. 16. 5. 80 "
ERIaE 48.10 m2
@[ No. 7.4 NO. 15. 23.50 ?flg CﬁAEH:/X%
NO. 15.5 NO. 2. 10. 60 "
@[ No. 3.0 NO. 3. 92. 60 "
@[ No. 5.0 NO. 19. 44.90 "
HRIEE 171.60  m2
& &t 219.70 m2




W

o ck=18N/mm2

10. 00% S—

e

100

100

a>41)— bk (ock=18N/mm2)
V=Wx0. 100 m3

HERE BEY S v v—F > t=10cm RC-40)
A=W m2




EIEEGIETEREY)

® A=1.8 = 1.8
@ A=5.3 = 5.3
® A=0.5 = 0.5
@ A=0.9 = 0.9
® A=0.8 = 0.8
a & 9.3 m2

a>41)— bk (ock=18N/mm2)
V=9. 3%0. 100 = 0.9 m3

ERRA (BEI Sy v¥—F > t=10cm RC-40)
A=9.3 = 9.3 m2

TR EIEER. STEFERMNGCADY R TLLYEH,




A& AN (4. Ommk13+50%120cm)  L=6E%*8. Om=48m

1200 8 000

SEAND
4. Omm=13+50x120cm

“,
S

3000

1K
i

MAK(H) FE1.5nxKOE15cm v
ctoc 2.0m N=4%&

N
500 | 500 | 500 _| 500 | 500 | 500
3000
500 _|_500 | 500 | 500 | 500 | 500

<X

Wi Lk
t=5mm

MAK () FE1.5nxKOE5m
ctoc 2.0m N=4%

<
<
<

SEAMT (FEERZ 4. Ommx13+50%120cm)
L=6.0%8. 0 = 48.00 m

IEFUTIA (R & 1. 5mx3k O 1% 15¢m)
N=4.0 = 4.0 &

AR EI<CYHE15~200m)
V=0. 50%1. 20 (1-0. 05) *48. 0 = 27.4 m3

e U FGLEF4 (t=10mm)
A=(1.20+0. 50%7. 0+0. 25%5) * (1+0. 07) *8. 00 = 50.9 m2




No. | FEE 1R (m2) Y3 pagne EE1E (m2)

@

@

®

@ 11.1 1:1.8 1.14 12. 7

® 13.4 1:1.0 1. 41 18.9

® 10.3 1:3.6 1.04 10.7

@ 5.4 1:2.4 1.08 5.8

©) 16.7 1:1.0 1. 41 23.5

10.2 1:3.6 1.04 10. 6

D) 89.0 1:3.7 1.04 92.6

@ 41.6 1:2.4 1.08 44. 9
a&t 219.7

FEC) - FEEREE. HTEFERMNSCADV R TLLYEH,
- DECEHERKL YEH,




BEYEIRT BHEEY)




V=

=
1

® V=1/2%(4.700+3. 300) #2. 500%0. 450  #EEMFAE No.6& Y
- FA O &R IERR
V=-1/2% (1. 300+1. 000) 0. 450*1. 000

2 500

N=1%
EAER
4 700
1 800 ‘moo‘ 1.900
‘ /
D
= 8 /
i - /
| /
/
/
/
/
1 3 300 ‘

@ V=1/2%(5.300+4.000) #2. 500%0. 500 ~ +EEMEAE No.7& Y
- GO &R IERR
V=-1.100%1. 100%0. 500

2 500

4.7+6. 1

@
N=1%
EEE
. 5 300
2 000 1100 2 200 )‘
\ 8 /
\ - /
\ — /
\ /
\ /
\ /
\ /
\ /
\ /
4 000

BEMBRT (BEHEED

9.2

it

A - AR EAtEESR

il
450

1300

fmEx

500

1100

1400

op

11000

2 500

2 500

4.5

-0.5

5.8

-0.6

9.2 m3

9.2
0.6
9.8 m3




LS — k7Y a—L 1000850
@
@

®
@ L=16m

16.0
16.0 m




No. 1 +12.00 0.3 0.8 IP.2 25%T
No. 1 + 12.50 0.50 0.3 0.30 0.2 0.8 0.80 0.4 "
N E 0.50 0.2 m3 0.4 m3
& &t 22.52 0.2 m3 0.4 m3




No. | 1 Ei #& (m2) E# A%8 (m3)

@

@

©) 2.3 0.5 1.2

@ 2.8 0.5 1.4

®

®

@

1.8 0.5 0.9

©) 2.5 0.5 1.3

1.8 0.5 0.9

D) 1.8 0.5 0.9

@ 2.4 0.5 1.2
a&t N=074& 1.8

FEE) - FEHEER.

STEFEEMN 5CADL R T LLYEH,

- BEH SRR EIE




DL=755. 000

FFE (ZF28mm/2. 9tF)
203+20

EELFER (Z16mm)
223+17%2+20

#IT®R (F14mm)
223%2+20

A — (H=12m, 15m)
(12m+15m) *63kg/m

203 m

223 m

277 m

466 m

1701 kg




28545 —TLyL—y

22287 —T Ny L—> (2.9%) 2218 —T Lo L= (2.9t)
JKFEERE L=90m JKFEERE L=63m
gon
e

[E2:E35 =R Rl

DL=700. 000

2-1% 77— L—>
ANVE = 63 m

F&E (ZF28mm/2. 9tF)
63+20 83 m

EE LR (Z16mm)
83+9. 6%2+20 122.2 m

#AiT%R (Z14mm)
83%2+20 186 m

27— (H=9m, 10m) 2
(9m+10m) *63kg/m 1197 kg




2284 —F LY L—> (2.9t)

28545 —TLyL—y

DL=700. 000

218 —TNLH L—> (2.91)
ES 63

KFEERE L=90m

[E2:E35 =R Rl

2-28 HS—TILHL—v
ANVE

N—Z2 a9 1)—F Qme2mx1m, 2£)

2%2%1%2
BRI (—H#&. EBH)
(2m*4*1m) *x2E&
FER (F28mm/2. 9tF)
90+20

EELFER (Z16mm)
110+16%2+20

#IT®R (F14mm)
110%2+20

A 77— (H=10m, 15m)
(10m+15m) *63kg/m

KT oh—RAENEDHH=0, 285 E

90 m

8 m3

16 m2

110 m

162 m

240 m

1575 kg




